
SAP ABAP table MAWEV {Generated Table for View}

MAWEV

MANDT [CLNT (3)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

ALAND [CHAR (3)]

TRAGR [CHAR (4)]

DISMM [CHAR (2)]

LADGR [CHAR (4)]

MTVFP [CHAR (2)]

BWTTY [CHAR (1)]

STAWN [CHAR (17)]

HERKL [CHAR (3)]

HERKR [CHAR (3)]

MTVER [CHAR (4)]

SOBSL [CHAR (2)]

DISGR [CHAR (4)]

STRGR [CHAR (2)]

SERNP [CHAR (4)]

STDPD [CHAR (18)]

VHART [CHAR (4)]

MAGRV [CHAR (4)]

MFRGR [CHAR (8)]

EPRIO [CHAR (4)]

MEINS [UNIT (3)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 MAWEV-STDPD = MARA-MATNR 
0..N

{0,1}

T000

MANDT [CLNT (3)]

 MAWEV-MANDT = T000-MANDT 
0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 MAWEV-WERKS = T001W-WERKS 
0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 MAWEV-ALAND = T005-LAND1 

0..N

1

 MAWEV-HERKL = T005-LAND1 0..N

{0,1}

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 MAWEV-HERKR = T005S-BLAND 
0..N

{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 MAWEV-MEINS = T006-MSEHI 
0..N

1

T149C

MANDT [CLNT (3)]

BWTTY [CHAR (1)]

 MAWEV-BWTTY = T149C-BWTTY 
0..N

{0,1}

T377P

MANDT [CLNT (3)]

SERAIL [CHAR (4)]
 MAWEV-SERNP = T377P-SERAIL 0..N

{0,1}

T434G

MANDT [CLNT (3)]

WERKS [CHAR (4)]

EPRIO [CHAR (4)]
 MAWEV-EPRIO = T434G-EPRIO 0..N

0..N

T438A

MANDT [CLNT (3)]

DISMM [CHAR (2)]
 MAWEV-DISMM = T438A-DISMM 

0..N

1

T438M

MANDT [CLNT (3)]

WERKS [CHAR (4)]

MTART [CHAR (4)]

 MAWEV-DISGR = T438M-MTART 

0..N

{0,1}

T460A

MANDT [CLNT (3)]

WERKS [CHAR (4)]

SOBSL [CHAR (2)]

 MAWEV-SOBSL = T460A-SOBSL 

0..N

{0,1}

T461P

MANDT [CLNT (3)]

STRGR [CHAR (2)]

 MAWEV-STRGR = T461P-STRGR 

0..N

0..N

T604

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

STAWN [CHAR (17)]

 MAWEV-STAWN = T604-STAWN 

0..N

{0,1}

TLGR

MANDT [CLNT (3)]

LADGR [CHAR (4)]

 MAWEV-LADGR = TLGR-LADGR 

0..N

{0,1}

TMFG

MANDT [CLNT (3)]

MFRGR [CHAR (8)]

 MAWEV-MFRGR = TMFG-MFRGR 

0..N

0..N

TMVF

MANDT [CLNT (3)]

MTVFP [CHAR (2)]

 MAWEV-MTVFP = TMVF-MTVFP 

0..N

{0,1}

TTGR

MANDT [CLNT (3)]

TRAGR [CHAR (4)]

 MAWEV-TRAGR = TTGR-TRAGR 

0..N

{0,1}

TVEGR

MANDT [CLNT (3)]

MAGRV [CHAR (4)]

 MAWEV-MAGRV = TVEGR-MAGRV 

0..N

0..N

TVFM

MANDT [CLNT (3)]

MTVER [CHAR (4)]

 MAWEV-MTVER = TVFM-MTVER 

0..N

{0,1}

TVTY

MANDT [CLNT (3)]

TRATY [CHAR (4)]

 MAWEV-VHART = TVTY-TRATY 

0..N

0..N


